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24. When 1 mole of CrCl3.6H2O is treated with excess of AgNO3, 3 moles of AgCl are obtained. The formula of the complex is
(a) [CrCl3(H2O)3].3H2O                                    (b) CrCl2(H2O)4]Cl.2H2O
(c) [CrCl(H2O)5]Cl2.H2O                                   (d) [Cr(H2O)6]Cl3
25. Atomic numbers of Mn, Fe and Co are 25, 26 and 27 respectively.  2. Which of the following inner orbital octahedral complex ions are diamagnetic?
(i) [Co(NH3)6]3+
(ii)[Mn(CN)6]3
(iii) [Fe(CN)6]4-
(iv) [Fe(CN)6]3
a. i and ii 
b. ii and iii
c.  iand iii
d. iv and iii
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27. Predict the number of ions produced per formula unit in an aqueous solution 
of [Co(en)3]Cl3 
(a) 4 
(b) 3 
(c) 6 
(d) 2
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6. Pick out the correct statement with respect to [Mn(CN)J2-
(a) It is sp2g? hybridised, tetrahedral

(b) Itis d2sp? hybridised, octahedral

(¢) Itis dsp? hybridised, square planar

(d) It is sp3d2 hybridised octahedral
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7. Facial and meridional isomerism will be shown by
(@) [Co(NH3)sCle]

(b) [Co(NHz)ClI CI

(©) [Cofen)a] Cla

(d) [Co(NHz)sCI Cl,
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8. Which one has highest molar conductivity?
(3) [Pt(NHg)2 Clal

(6) [CO(NHg)s Clzl CI

() KalFe(CN)el

(d) [Cr(H:0)el Cl3
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9. Which one will show optical isomerism?
(@) [Co(NH3)sCle]

(b) cis-Co(en), Cll CI

(©) trans-Co(en); Cla] CI

(d) [Co(NHa)s Cll CI




image10.png
10. The pair having the same magnetic moment is (At No. Cr = 24, Mn = 25, Fe = 26, Co = 27)
(@) [Cr(H,0)e2* and [CoCLP>

(0) [Cr{H20)2 and [Fe (H;0)

(©) IMn(H;0)el2* andlCr(H;0)2

(@) [COCI and [Fe(H;0)>
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11.0n treatment of 100 mL of 0.1 MCOCI5.6H;0 with excess of AQNO3, 1.2 x 1022 ions are precipitated. The
complexis
(a) [Co(H0,
(6) [Co(Ho0
(©) [Co(H:0)
(d) [Co(H0

4C12ICI.2H0
5ClaJ3H,0

6l Cls

5CI) Cla K0
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2. Among the ligands NH3, en, CN and CO, the correct order of field strength is
(a) NHz <en<CN™<CO
(b) CN"<NH3z< CO<en
(¢)en< CN"< NHz < CO
(d)CO<NHg<en<CN-
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13. Which cf the following complexes formed by Cu2* ions is most stable? INCERT Exemplar]
(@ Cu* + 4NH, = [Cu(NH,),J*,
logk = 116
(B) Cu¥ + 4CN- = [Cu(CN),J*,
logk =273
(© Cu* + 2en [Cu(en),J*",
logK = 15.4
(@ Cu* + 4H,0 = [Cu(H,0) ],
logK = 8.9
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14 The stabilisation of coordination compounds due to chelation is called the chelate effect. Which of the
following is the most stable complex species? [NCERT Exemplar]

(@ IFe(CO)d

(0) [Fe(CN)el*

(©)[Fe(Co04)>

(@ [Fe(H0)d*
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15. Indicate the complex ion which shows geometrical isomerism
(a) [Cr(H20)4Clgl*

(6) Pt(NHg)3 CIl

(©) [Co(NH)g**

(d) [Co(CN)s(NC)*
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16. The CFSE for octahedral [CoClgl* is 18,000 cm™. The CFSE for tetrahedral [CoClal* will be [NCERT
Exemplar]

(c)8,000cm™
(d) 20,000 cm”"
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17. Due to the presence of ambidentate ligands coordination compounds show isomerism. Palladium
complexes of the type [Pd(C¢Hs)2(SCN)2] and [Pd(CeHs)2(NCS)] are INCERT Exemplar]

(a) linkage isomers

(b) coordination isomers

(c) ionisation isomers

(d) geometrical isomers
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18. The compounds [Co(S0)(NHz)slBr and [CO(SO0s)(NH)sIC! represent NCERT Exemplar]
(a) linkage isomerism

(b) ionisation isomerism

(¢) coordination isomerism

(d) noisomerism
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19. A chelating agent has two or more than two donor atoms to bind to a single metal ion. Which of the
following is not a chelating agent? NCERT Exemplar]

(2) thiosulphato

(b) oxalato

(¢) glycinato

(d) ethane-1, 2-diamine
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20. The solution of the complex [Cu(NHz)4] SO4 In water will
(a) give the tests of Cu?* ion

(b) give the tests of NH3

(c) give the tests of S04% ions

(d) not give the tests of any of the above
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21.1UPAC name of [Pt(NHz); Br (NO) CIl Cl isw

(a) triamminechlorodibromidoplatinum (IV) chioride

(b) triamminechioridobromidonitrochloride- platinum (V) chioride
(¢) triamminebromidochloridonitroplatinum (IV) chioride

(d) triamminenitrochlorobromoplatinum (IV) chioride
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23 Trunbull's blue is
(a) Ferricyanide

(b) Ferrous ferricyanide
(©) Ferrous cyanide

(d) FeglFe(CN)gls
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26. Which of the following has magnesium?
(a) Chlorophll

(b) Haemocyanin

(¢) Carbonic anhydrate

(d) Vitamin B
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28 Which of the following shall form an octahedral complex?
(a) d* (low spin)

(b) ¢ (high spin)

(¢) d® (low spin)

(d) All of these
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29. EDTAis used for the estimation of
(a) Na*and K* ions

(b) CI” and Br™ ions

() Cu?* and Cs* ions

(d) Ca?* and Mg? ions
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30. The name of complex [Fe(CN)¢J* is
(a) Tricyanido ferrate (Ill) ion

(b) Hexacyanido ferrate (Ill) ion

(¢) Hexacyanido iron (1)

(d) Hexacyanido ferrate (Il) ion
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32. Atomic number of Mn, Fe, Co and Ni i are 25, 26, 27 and 28 respectively. Which of the following outer
orbital octahedral ‘complexes have same number of unpaired electrons? [NCERT Exemplar]

(&) MnCI>

(o) FeF®

(c) [CoFel>

(d) INi(NHg)gl2*
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33. Which of the following options are correct for [Fe(CN)el* complex? [NCERT Exemplar]
(a) d2sp? hybridisation

(b) spf hybridisation

(¢) paramagnetic

(d) diamagnetic
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34. An aqueous pink solution of cobalt(ll) chicride changes to deep blue on addition of excess of HC1. This
is because [NCERT Exemplar]

(a) [Co(H20)¢]?* is transformed into [CoClgl*

(b) [Co(Ha0)gl?* i transformed into [CoCll%

(c) tetrahedral complexes have smaller crystal field splitting than octahedral complexes.

(d) tetrahedral complexes have larger crystal field splitting than octahedral complex.




image30.png
35. Identify the optically active compounds from the following: INCERT Exemplar]
(a) [Colen)**

(b) trans- [Coen), Cl2J*

(¢) cis- [Co(en), CII*

(d)[Cr (NHg)sCIl
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1. The sum of coordination number of oxidation number of the metal M in the complex [M(en)2 C204] Cl ar
@7
®)8
©9
@s




image2.png
2. Which of the following will not give test for CI~ with AgNOs(aq) at 25°C?
(a) COCI3.5NH3
(b) COCI3.6NH3
(c) COCI3:3NH3
(d) COCI3.4NH3
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3. Which of these statements about [Co(CN)gl* is true?
(3) It has 4 unpaired electron, high spin

(b) No unpaired electron, high spin

(c) No unpaired electron, low spin

(d) 4 unpaired electron, low spin
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4.The correct order of the stoichiometries of AgCI formed when AgNOz in excess s treated with
complexes: COCl; 6NHs, COCI3.5NHs, COCIs.4NH; respectively is

(a) 3AQCI, IAQCI, 2AqCI

(b) 3AgCI, 2AqC1, TAGCI

() 2AgCI, 3AgCI, 2AqCI

(d) 1AGCI, 3ACI, 2AgCI
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5. Correct increasing order of wavelength of absorption in visible region for complex of Co®* is
(@ [Co(H,0),*, [Co(en),}", [Co(NH,)P*
(8) [Co(H,0),", [Co(NH,) J*, [Co(en),}""
(© [Co(NH,)J*, [Cofen),*", [Co(H,0),F"
(@) [Cofen),I*', [Co(NH),J*, [Co(H,0), "




